Word Problems

n He needs 55 sponsors 10 fill the

s already got 24 sponsors and 9 friends and family
ar need to

fill the sheet?

5 Sara has the choice of two buses to get home after school. One
leaves at 15:30 and arrives ot her house at 16:17 and the other leaves
at 15:44 and arrives home at 16:19. How much longer does the first bus

take to get to Shana's house?

ns for his class. One watermelon is 5.7Kg,

3 Ali brought watermelo
ast is 5.8kg. Find the total weight?

another is 6.5kg and the |

ermelons evenly between the 20 children in

4 Ali then splits all the wat
er. How much does each

his class. None of the watermelon is left ov
child receive Write your answer in grams”?

ples in one box and 28 in another. Olivia takes out

5 There are 36 ap
re rotten. How many apples are left?

one fourth of the apples as they a
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